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Question: 1

What is not server development trend?

A. Rise to X86
B. Virtualization
C. Big Data

D. Cisc to Rise

Answer: D

Question: 2

Huawei X6000 high-density server supports online maintenance of fan modules.

A. TRUE
B. FALSE

Answer: A

Question: 3

Which third-party management software can Huawei eSight support now?

A. HPOpenView
B. HPOneView
C. Nagios 5.x

D. Nagios 6.x

Answer: A

Question: 4

Huawei E9000 server support mixed insertion for blades.

A. TRUE
B. FALSE
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Answer: A

Question: 5

Which Intel processor does Huawei X6800 XH622 V3 support?

A. E5-2600v2
B. E5-2600v4
C. E5-4600

D. E3-1200v2

Answer: B

Question: 6

The three key messages of Huawei FusionCube are: (Multiple Choice)

A. Converged
B. Simplified
C. Powerful

D. Enhanced

Answer: ABC

Question: 7

Huawei X6000 high-density server supports 24 NVMe SSDs in each chassis.

A. TRUE
B. FALSE

Answer: A

Question: 8

Which server does Huawei FusionCube 2000 use?

A. X6800
B. E9000
C. X6000
D. RH2288H

Answer: D
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Question: 9

Huawei FusionCube is a hyper-converged infrastructure.

A. TRUE
B. FALSE

Answer: A

Question: 10

What compute nodes does the Huawei E9000 blade server support? (Multiple Choice)

A.CH242 V3
B. CH220V3
C. CH222V3
D. CX911

Answer: ABC

Question: 11

Which Intel processor does the Huawei E9000 CH242 V3 compute node use?

A. E7-4800 v3
B. E5-2600 v3
C. E5-4600 v3
D. E3-1200 v3

Answer: A

Question: 12

Huawei X6800 high-density server converges computing, storage, and networking.

A. TRUE
B. FALSE

Answer: B
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Question: 13

What is the maximum number of 3.5-inch hard disks Huawei RH2288 V3 can support?

A.8

B. 10
C.12
D. 16

Answer: D

Question: 14

What application scenarios does NVMe SSD support? (Multiple Choice)

A. Database

B. VDI application
C. ServerSAN

D. Big Data

E. Public Cloud

Answer: ABCDE

Question: 15

BMC system is out-of-band management

A. TRUE
B. FALSE

Answer: A




